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QUESTION 1

A new VMware virtual machine has been created and will be protected with Avamar guest level backup. In addition,
image level backups are not able to be performed in this environment. What can be done to provide quick, full system
restores with an RPO of one day while keeping backup times low?

A. Create a VM template and perform daily backups of unique data.

B. Perform backups of the full file system every day.

C. Perform daily CBT backups from the guest machine.

D. Perform daily system state backups.

Correct Answer: A

QUESTION 2

An EMC Avamar customer has a Celerra running DART 6.0 with 20 TB of data. There are approximately 10 million files
distributed across two Data Movers. They would like to backup the NAS in approximately five hours. What is the
maximum number of streams that can be configured?

A2

B. 4

C.8

D. 16

Correct Answer: D

QUESTION 3

When using an EMC Avamar to backup an Oracle database, an error similar to the following is received: What is the
likely cause for these errors?

E20-895 Practice Test | E20-895 Study Guide | E20-895 Exam Questions 2/4


https://www.passapply.com/e20-895.html
https://www.passapply.com/e20-895.html
https://www.passapply.com/e20-895.html

VCE & PDF https://www.passapply.com/e20-895.html
2024 Latest passapply E20-895 PDF and VCE dumps Download
PassApply.com

RMAN-00571:

EMAN-00569=—=—=—=—=ERROR MESSAGE STACKFOLLOWS =———=
BEMAN-00571:

RMAN-03009: failure oI backup command on cl channel at 09/04/2011 13 18:19
ORA-19306: failed to create sequential file, name="07d36zcp 1 1", parms=""
OFA-27007: failed to open file

SVR4 Error: 2: No such file or directory

Additional information: 7002

Additional information: |

OFRA-19511: Error received from media manager laver, error text:
SBT error = 7003, ertno = 2, sbtopen: svstem error

A. RMAN catalog is not connected

B. A checkpoint is running on the Avamar server

C. Username and password are incorrect

D. Avamar MCS is down

Correct Answer: C

QUESTION 4

A Dell EMC Avamar backup administrator wants to recover a few email messages from a backup of a Microsoft
Exchange server. They are determining whether to use RDB or the GLR option. What is one difference between GLP
and RDB?

A. GLR can be used to restore a single email message, RDB cannot

B. RDB can extract items to a .pst datafile; GLP cannot

C. GLR will not transfer the entire database over the network; RDB will

D. RDB does not require data to be staged on a separate server, GLR does

Correct Answer: A

QUESTION 5
A backup administrator is looking for advice on how to achieve a steady state condition for their multi-node Dell EMC
Avamar server with five storage nodes. What is the approximate amount of storage that garbage collection should free

up at steady state?

A. 5 GB per hour for the Avamar server

E20-895 Practice Test | E20-895 Study Guide | E20-895 Exam Questions 3/4


https://www.passapply.com/e20-895.html
https://www.passapply.com/e20-895.html
https://www.passapply.com/e20-895.html

VCE & PDF https://www.passapply.com/e20-895.html
2024 Latest passapply E20-895 PDF and VCE dumps Download
PassApply.com

B. 10 GB per node per hour
C. 15 GB per hour for the Avamar server
D. 20 GB per node per hour

Correct Answer: B
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